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Aspect in Kumam
Kumam necessarily distinguishes imperfect from perfect aspect supra-segmentally in

the verbal morphology. The perfect aspect is marked by a low toneme.
(1) a=tédo6 !cdm (Imperfect)

1SG=IMPERF:cook food

‘I cook food.’
(2) a=té!d6 !cam (Perfect)

1SG=PERF:cook food

‘I cooked food.’
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Progressive aspect consists of the auxiliary =tyé ‘be’ and an infinitive form of verbs.

(3) a=tyé teedo cam

1SG=PERF:be cook:INF food

‘I am cooking food.’

Past tense is marked with the adverbial oudo ‘PAST”.

(4) oudo a=tédo6 !cam (Past imperfect)

(5) oudo a=t¢é!dd !cam  (Past perfect)

(6) oudo a=tyé teed6 !cam (Past progressive)

Future tense consists of the auxiliary yaaro ‘to decide’and an infinitive form of verbs.

(7) a=yal!r5 teedo cam

1SG=PERF:decide cook:INF food

‘I will cook food.’



Tenses and aspects are semantically characterized by ‘non-boundness in time’. The
events expressed by verbs in the imperfect aspect are not performed in a particular time.
The imperfect aspect denotes that the events expressed are performed basically
habitually or repeatedly. Other tenses and aspects are characterized by ‘boundness in
time’. Verbs in the other tenses and aspect than the imperfect express that events are
performed in a particular time. The semantic characteristics give an explanation to the
following usages of verbs. So-called ‘stative’ verbs are basically inflected with the

imperfect, because events described by them are not completed in a particular time.
(8) a=ma!ro tabun

1SG=IMPEREF:like books

‘I like (reading) books.’
(9) */7a=malrs 1tabun

1SG=PERF:like books

“The books pleased me.’
The sentence (9) is not natural for the interpretation that the speaker liked the books.” It
is only acceptable for the interpretation that the speaker finished reading the books and
was pleased with them. Similarly the sentence (10) is not semantically natural because
the relative clause consisting of a verb inflected with the imperfect aspect does not
express that the event is performed in a particular time. The sentence (10) is only
acceptable for the interpretation that the books bought by the subject in the relative

clause always please the speaker.
(10) */?a=mit5 1tabu d!mé okélo wild

1SG=IMPERF:want book which Okelo 3SG:IMPERF:buy



11) a=mft5 itabu d!'mé okélo o =wilo

1SG=IMPERF:want book which Okelo 3S/P=PERF:buy

‘I like the book which Okelo bought.’
Tenses and aspects in first clause should coincide with those in second clause in
coordinate construction. When the first clause consists of a verb in the imperfect aspect,
a verb in the second clause should be in the imperfect aspect. When a verb in the first
clause is inflected with another tense or aspect than imperfect, a verb should be in

another tense or aspect than imperfect in the second clause.
(12) e=néko gwen di a=camd=!gf
3SG=IMPERF:kill chickens and 1SG=IMPERF:eat=3PL
‘He kills chickens and I eat them.’
(13) *e =néko6 gwen do a=ca!lmd=!gf

3SG=IMPERF:kill chickens but 1SG=PERF:kill=3PL
“*He kills chickens but I ate them.’

Tenses and aspects in Kumam are characterized semantically by ‘boundness in time’.
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Construction pattern 1: [co-event + deixis (+ ALONG and/or FROM/TO/VIA)]
1) kee-ran-aa-t necto.
TODAY.PAST.3-jump-along-thither =~ 3SG
‘S/he jumped along that way.’

2) kee-raan-aa-t-e neeto  kot.
TODAY .PAST.3-jump-along-thither-from 3SG  house
‘S/he jumped along that way out of the house.’

Construction pattern 2: [co-event + (FROM/TO/VIA)]
3) ky-mykurykuyru rwaantet am lakdm térat.
RECENT.PAST.3-roll stone from  hill top
‘The stone rolled down the hill (/iz., rolled from the top of the hill).” (deictically neutral)
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(B-2) associative motion
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HELFBEFITEL, HEFTREEZRT LV BIFEMMEREMGSEO NN — 2D 2
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4 (a) ky-pél/(b) ky-pél-o-n/(c) ki-pel-aa-t cémtdy tadrit.
DIST.PAST.3-burn/DIST.PAST.3-burn-along-hither/  Cemtay candle
DIST.PAST.3-burn-along-thither
(a): ‘Cemtay lit the candle.’

(b)/(c): ‘Cemtay lit the candle as she moved (b) toward the deictic center/(c) in a direction
other than the deictic center.’

(5) (&) ky-néér/(b) ku-péér-ngo-n/(c) ku-néér-naa-t.
DIST.PAST.3-get.angry/DIST.PAST.3-get.angry-along-hither/
DIST.PAST.3-get.angry-along-thither
(a): ‘S/he got angry.’

(b)/(c): “S/he got angry repeatedly (or was angry) as s’he moved (b) toward the deictic
center/(c) in a direction other than the deictic center.’

(6) (a) ku-kas/(b) ku-kas-t69-n/(c) ku-kas-44-t lakdam.
DIST.PAST.3-100k/DIST.PAST.3-look-along-hither/ = mountain
DIST.PAST.3-look-along-thither
(a): ‘S/he looked at the mountain.’

(b)/(c): ‘S/he looked at the mountain as s/he moved (b) toward the deictic center/(c) in a
direction other than the deictic center.’
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@) kee-ran-aa-t neeto  ky-rekt-o.
TODAY.PAST.3-jump-along-thither =~ 3SG  PTCP.3-descend-to.goal
‘S/he jumped along down that way.’

(/it. “S/he jumped along thither, descending.”)

®) kee-ran-aa-t neeto  ky-rekt-aa-t.
TODAY.PAST.3-jump-along-thither =~ 3SG  PTCP.3-descend-along-thither
‘S/he jumped along down that way.’
(Zit. “S/he jumped along thither, descending along thither.”)

) ka-rekt-o neeto  kuy-ran-aa-t.
TODAY.PAST.3-descend-to.goal 3SG  PTCP.3-jump-along-thither
‘S/he jumped along down that way.’

(/it. “S/he descended, jumping along thither.”)

(10)  ka-rekt-aa-t neeto  ky-ran-aa-t.
TODAY.PAST.3-descend-along-thither 3SG ~ PTCP.3-jump-along-thither
‘S/he jumped along down that way.’
(Zit. “S/he descended along thither, jumping along thither.”)



